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TPN

PMITID? .O079YN DNN IPIND NPPVRNNA YV YN IMR M (commutative algebra) mavnn ny23580
DMOR MOMIRIT W YN Z DnYwi 09000 NN PN DI90NRN DN TR TRN DRI T 1Y YV
onnn K 7w Syn oinvn n 1 K[Xq, ..., X,] omroen »n up ormdn onn Y9 mavn ar 11w
DRT 7251 .(AMTD T 172Y DR DNIN 1R MINYYIL) Y TN MP 19 2OP1 DNNYY 121 1D A1 0mT 1900
93,19 YY A0 2910 PR ATV YY1 02T N Z HY DARND INY ONVRT HRTR Y A1 AT ANY 20K YY1 On
D7P79NN 7D PANY MDY DMIYRD DI20NN NNNY NIVARND NN YV I MV JVRT U0 Z Y HRDR
I8N MY MATO DRt nMYY » K[ X7, ..., X,,] 20 .onvw omaon mina Z Yo o»nwrIn DORTRD
NN Y2 NMINYY MMIND RYR MITY NP OPR 19X DYRTRY DM 1NN YW NINN .OPNYRI DORTR YV N
YW 7210 HRTRY oa K[ X, ..., X, Y nann ,anaTh 0123oKn 1r10mika maYwn 1Hpa mmm mnw
(V7250 YV OARN VaYN YV TMDINN TNR 1T K HY N9ID NANIN ATV NN

228 YN DVDITNR YV IPPOVNNNY TADN TP MY 731 7IORY DIPN NIY NINY YR W
DYOYNN INN YV DIVIMN ONYY AN NN 170VN YWY ANWRIN TPENN1 170VN YV 1IN n¥nni
™15 WIPHR MPYIN 5v 5T Pon .05 PNINY NIVARND APR NIXPN NTIONN IO DN YN DNTINM
2V NYMNIV M200n NN SYN DNTIN NN SV NVIY 07210 DPNVRT DORTR D 070020 DIvINN
5w NYN :DIN NNINY DNIPYN DVAVHRN TV M DPNVRT DYRTRI 1NTIM DN YV DIpn 00N
MPIN MMV SV NN NIV MIPH 2NN NP 1VIION DY DDIN VIVYA ,07250 YV DDARD VOV NP
Y0 VTN 13 103 ATV HYN DINYH N1 075NTNON MPINN TNV NN SV NYIIY TR MPMIAN IO DINNA
JPPTTONM MTTI MIIYNY 8P

071907 DPNIPN TN D2IN YY NMINYYNT,THNN NTIN 0N NRIN RYY RN 1T MOIY 401 DRYN
7Y N0V NTRI DV MIPNRN NN DRI DIPIN NV NN NI 79N OMPH NN SV ANYYRNY Vawvnn Oy T
YR DRV THYY ©2 1PRY DPTDOHR MY 3PN 21N DIPH PNINRND VAVNN VAN ,IVNT 1IN DMIDOR YD

JONR DT0N

1779 Avn

YOYN VN 18 NIYIn



DORTNY DN N

P70 DPNNION NPT YRTRY 1IN HY 1IN DR D201 DT Y01

DNPINMMM DN
NYY Y93 MIN ,MPYP NI MNYa NY oy A nxap nn ((ring) »n 1xepa) HPM oY 9hvn an

1, Y, 2 € A 9% mwpnn mran mwTnw jara 1 0 oomap

(z+y)+z=x+ (y+ 2) My gen % (1R)

T+y=y+z:9o00 50 (28)

O+ x = 20980728 (3R)

2+ (—y) mpmz —yovn) .o+ (—z) =00 P —z P MR P T Y O IR (4R)

(zy)z = x(yz) 9939 g Y95 (58)

Y = Y 9935 9Iomn Y9 (6R)

Jdx = z:apmwnnar  (78)

x(y+2) = xy + xz :n%n Y9 (8R)

.0 2 10PN RIM DARD N NN A nrmpnm .0 = 1 v mIvarn DR 1Y &Y

:z,y € A 935 Mran MY MMPnn Ox oPraNMmmN NrIP1 B »nY A nnn a apnyn

La(x —y) =a(z) —a(y) ya(0) =0,pM alz +y) = a(z) + a(y) (12)
a(zy) = a(z)a(y) (22)
a(l)=1 (33)

N S opammn un o a: A — C gxen ok ,oan S openmmn wn 6: B — C or
NN v oprammn mn id: A — A mnm npnyn

AT NIPN2 .ATIN DR 19101 Y931 NIANN NNN NN RN DR In nn on A nan Sv Ag nxnap nn
2279 1N TN oranmmn v Ag — A 1mvn npnym A Yv mhvab onva an mnn ®on

DPONMDR RIP1 OPamnn .a(A) = B or ppammmor R1p) oan Y a: A — B oranmmn

ovemmpr mn ot B — A nmann NPNYNN O3 0T NIPNR2 5YY 13T TN TN RID DR

I NN DIYRTN
A »ara Y95 NNN A7) DARN 1AR DR 1991 ,ONN DNN 7NN I¥I2P NN N7 A NN SV a HRPR
oy 19NN a YRR LA Sv DORDR Dan vy A1 0 AMIY ra € AV DM T € Ava € a:amy)

{proper) niry a v 0IMR PP WR AT OR .1 € a or pn or A 10N



70m .a 209 A Y nyvrnwn mponnn qor nrk A/a = {a+a| a € A} 1 1n01. A YV YRR a

:MRIN MDA DA AN A/a nr
(x4+a)+y+a)=(z+y)+a (x4+a)(ly+a)=zy+a

m(z) =z +a Y mmpn m A — A/anpnyan .1 4+ a p armn a0 4 a mn A/a v varn
(quotient map) mnn nppyn nrIpin A/a Yy A Sv apammrar min

(kernel) pyaan RIp1n A Y Sxpr mn Ker(a) = a~1(0) nwiapn .opammmn a: A — Bow

B Yw an np mn Im(a) = a(A) nvapn Ker(a) = 0 ox pm ox "7 0 0 Dpanmmnn .o Yv

.Y (image) n»vnnn RI7n

Dp N .a = Ker(a) JRO DPANPION A — Bomw (man VRIN OVATIMPRN VAYN) R.X [IDODYUD

mpanpoyamnaoca =mwpa: B — A/a v orammrx

DYRTRN GOR IR npnvn b — a7 1(b) Aapnyan onnY PYRIN OPAIMPRN Vavn YV DDA

.anr apnn A Sv YRTRN qOR YY 197 TN TN jara B Yvw
oR A 2N S a SRRz, Yy DIVR NI a M y Y 9N x RN x = y mod a ow 9101
DR PN OR & =y mod a,j3 Yy I K95 Mann mMYpa’ DRINN MP’PY DY NN APANN ON’.x — y € a

mnnpnyn mnm: A — A/aora w(x) = 7(y)

DITOR 00K DIIR ,0OR IPONN
oar pHYNMN ®YY Ann .xy = 00 Py # 0 p ymyw z 728 un A »na (zero divisor) var poynn
K[X1,...,X,] omrhan nm Z mnbwn nn ,nm15 (integral domain) mmnbw oinn x1p1 0 9 v1o

Jmdw mnn o K e dyn X4, ..., X, oanwvm

MY N2 Dar 1ar v .z = 0 v 72 1 Ovav jaon op oxr (nilpotent) roor M x € A 7ar
JDAR 110 DAR PONN Y3 RY DHIR DOR PHYIN 1IN DARN

rmpm Ly’ = 1w 73 o P 9ar wron A 1aRY (unit) AR 03 orMp A Yo u Pan 1Ry
A 2 minonn paon anan man A Yw mINRA qOR ' =u~"! mmnon

DR ATNR 2 W Y2 MDinn .(principal) »wxy nnn SRR N0 A Y0 2 728 Yo Az medn qor
Ax = Aorpm

7909 RS OYIR MNYY DINN 1N ATV Y3 1191 O W DArRN NNW 7R % 1 # 012w »n un 1y

:D2INN 23P2 MITVN DR PARN RIN IVHVNHN .(NTY 1KY NMNYY oINn 9N Z)



aroarmapw A #£ 0 0 5w maan mnona AR [109WUD
Aamwm A (R)

vy A 10 pn A 2pmmn odRTRn (2)

22 7 ua B vosn anw an pnb A 5w o« opammmin 5 ()

mennn A S ®nwos 1R ¥ o .z # 0728 a2 p IR LA YD DaRN MW YRTR a0 :(3) 7 (8) N

a=Apycavymy=yr -z

1 ¢ Ker(a) » Ker(a) # A nx .ovanmmn a: A — B o varn nmw »n B o :(2) 7m (3) nnon

27 T N v rom Ker(a) = 0,(2) 0% 195

A/Az mr Az C Ao pon R £ v Y ma LA Y Darn ANY AR x N (&) 1 (2) nnon
7(x) = 0w Y nvnoa oy o mn A — A/Az mainn npnyin L(3) 8% 195 .oarn ANw 10 1N

[ ATV A W P Pan £ v Yan 1 nPnon

D271 DONTRY DYNYRT DR

ANy .Y € PIRT € PV IMTY € P OX P # A DR (prime) mmOxy ndn A nn Hv p SRR
2NWRT SRR 10 0 O P DR MNYY oNn N A 0 .indw onn & A/p

nvawn 1Y pavny LA Y m Pa drTr 0w pr oy m C A or (maximal) am un A Sv m YRR
AT A/m an

7909 RS D9IR MVWRT N 2N HRTR Y

B 59 mwr1 SRR 99 A Y mwr1 SRR w0 o () R .on Yv opammn a: A — Bow
(91n) B 5w 2270 YRR 30 g or A Y 0270 SRPR R0 1(q) 1R ,5Y 195 qona R0 o or

MY DWHNNWYN ,0n%Y 0P NINY 1T IPMONN A72IYRA M1OIN TRAN DOPNVA DMIVRIN DYRTNRN
MR YV

:x,y € X 935 mRan mMw T DR PN RN DR YN 770 o un X nwiap Yy < i 370 o
X < x (R1)
Z=yvrmMmy<zrz <y (21)
< zymy<ziz<yyr (1)

2 PIVIY .S YV MRIPN NN QDR YY 'PYN IT0 O NS NP YV MNP NN HY AYIAN O ,NMTY
728 10 X Yv (upper bound) 1% non .axwn% N X 1 oar 1w 9 naw X nnap nn n X
151 OYIR) PN NI "ar X 2 PR ok maximal ram nn X 2 ztar . XgomarSnmwwrmny € X

.(Z 1y NRIYNY 01N DPRY DD 0170 DMAN



p R oy oon v X 2 mww 250w mn < opon 170 o oy Apr1 8o Aviap X oan (Zorn) Nix 7w Aan'7n

(T 0P ARIYAY DINI DPRY D290 07270 DN 150 DR uon N pyw © € X 728 1m5) 2am 1av X 2
.G DR PO MO HRTR A Y Dp otk A n 5w MKy SRTR A 7 AN [10DWUD

A nr 1701 .00 NR Dopnn A Yo mrn DYRTRA Y3 qor Nk A 110011 € a ,mr1 ag 1R ann
A9 w195 ,1 DR 990 108D SRR 219 10 A Y9 DIVTIY 991 DHRTR DV TINRA 190 0T YY pYN jaRa

| .0 DR ppnn A Yv 290 HRTR P AT 7AR .m0 AR A 2 Dpw 1R YY ndnn yan 1ab

D720 ORTR A 2 v Yap)1 ,A Darn MY NN2 DARN YRR HY AR TVAVYN DR YPa) OR 0791
11910 HRTR A 2 W AR PVaYn Y ,19Y MR YRR 10 Az IR ,ATAR IR T OR .OPHVRT DYRDR O3 19N
. DR 990 199 Ax DR 9pnn

NP NHHINY NN AR PVAVN YW NN

A 59 p omwn1 SNTR Dp 1k .a 5 nrm a3 nnn amon A Sw aviap nn S 1 A v S8R a i TR 10DUD

.S 5m a nx ypon

nn A nr 9101 .0 € A LS Y orm a nr oapnn A Yw DYRDRA 93 nviap nr A 1o :anon
SNVRT PV I P 020 TR A 2 0P ,11x SV dnbn vad .avon

Ao morrrom Ay +prAz +paR.ay € pw P,y € AN P DR wwpw n»Hwa Ny

s1 € (Az+p)NS owp mank woma Az +p, Ay+p ¢ A vy p v nvainan .p nxk von DopHn

| JIVRT P Y YIN T APRON P € A v 19Y nvnoa,sise € pN S wp on.se € (Ay+p)NSH

2mpn »n wa AT Y ,amTY L(local ring) mipn N XIP1 M TNR 2210 YRTR PYTI v 1AW A NN

:DPMIPn 0N Parn 810 poawvnn LA Yo (residue field) nyarwn 1w A/m x1pa nr napna

an A op R 1oown
250 PR 2070 SRPRD N W 1mpn A ik, pan AN m by ax Hw pm o mr xR A Sop or (R)

ompn A ok, pan 1+ m bwran Hw o A bwoam v nam ox (2)

MM ,PY.aCmuyanRom.z € m PN Pan R £ 1R .z € a1 A S0 M1 YRR a X N

ampn A P9 A S pon haann SRR

nr wan Ppnn A S0 SRTR 10 Au 4+ m LR L pan u € A N m 9ar Y mond praon L(R) 20 a0

au=1-mpPnaeau+m=1lvpPpmemiac Avwpvior.Adut+m=A,2mmi1»n.m

1

[ Y w3 pan uy (1 —m) " tau = 1,199 pan 1 — m ,nmann »aY

4



.(semi-local ring) ngnnd MpN HN RIPI 0PN YRR YV XND 190N HP1 NN

LN INDIT
T3y mmpna Yvaun K o dyn Xy, ..., X, oonvm A = K[ X5,..., X, omrhan nn (R)
Pon n =1 or PR oNwRY Y8TR N1 Af v Yy o1y Tnn mprann paor 1R f € Ao
9 MmN PRPITIRD TYR DI TN MPI9 YY2 1NN 199 MWK 1IN YRTR YOV oM MIRY OY DMNa
O YV YN nAva nwva n + 1
OR P OR MVRT MZ SRTRN L1299 I m % R 3900 12y mZ 1Rt SRDR 995 v Z ana ()
F, = Z/pZ pyarwn 01 2270 10 MWK 1900 P 120 pZ YRR Y3 200RI 1900 10 mw m = 0
.DMIAR P P2 DTV NN
(p+mZ)F =0 Z/mZ 0 ooR 1R ua p + mZ ek > 21 mwR1 p w1 m = p~ or
S® VAR PYNN NN p; + MZ TMIARAN TR Y3 MR ,DPNVRI DIO0N YW 190N NN M = P - - - P DR
.OPDAR DMAR T N2 PR OO Z/mZ
> 1120 mpna RY oR 7 =1 v 07PN (R) NNIT NN NIY DI PIW DNTIPN 8% NPDSI PYYN
oo (179 N1 A/m = K D) m19n nn 0arY mv onvw YWANN TARAY DMPNON 93 YW M ORTRA 1R
52n) rwrT IR M
SRTR 93 1 N2 JVRI NN ORTR 95 12w MnYY oinn 1N (principal ideal domain) rwxy I ()
728 OY p = ax MR Ap DR Ppnn SRR Az 0 pro R AR p o R 2390 DARND ANY MNMYRY
Ap 139 . Ax = A>ywn mpnm Az = Ap porin mpna . pan z W Ppana ,praRpIRn.g € A

[ | Ragtal

DNV
or H(A) 2 mr noa (nil radical) A S moarn PYIVH XIP1 A NN YV DPDARD DIIRD GOR

J(reduced) nxngn A v nry N(A) =0
ovnyn an np A/N(A) 1o8v8 ua A onbw ,N(A) nooxn ppavn X I0oWD

79 A 59 DR ¥ 1z P IR 1IN DNN 0 RINY MRINY 200 YRR 10 T(A) © mand 1 anm
DR .s2>2n9 Yy =01r>2m%o " =09 . m,nomivovonmy y" =012 =0vw
WP (2 4 y) M = ST (M) gy = 0w yan on aTy® = 0om,r s =m+n
(z+N(A))F = 0 wpnn z € A7ax1 mam varn 7250 Drooxr oar A/M(A) 1 prw mmny 113

73 ov10 [ ©p 195 2P € MN(A) v 2% € N(A) v powa k PV P11 IRIN DYV K RINW APR MY

| Y v sea .z € N(A) P 2 = 0w



199 DY DR NPI0M Q0N JaR1 A YV IWIVA DR NYORN NRIN IRIND
250 DYNYRIN DPONTRD 59 Innd my A nn by onoaxa pwIwa N 10OWUN

v P VIO NP IR LT € M(A) or A Y0 DPnwRIN DORTRA 3 Yv PN nr [ 2 jpoy :anom
MN(A) CTowon.dYopm Ao omort SRR 939 P 2 1% 2™ =0

b S = {x, 2%, 23, ...} moaon nnapy 1t N(A) .z € 1~ N(A) mpw n»Hva any m

vymunrnon 2 € I CpwPYarnoa,z € p,o1ea .S Y n ponwrl HRPR Dp TR NVIVN

] oy v e I = N(A)

1 jnpm A v orann wYRTRA Y5 Ind IR A »n Yw (Jacobson radical) poapy pww

M(A) C J(A) nxrpoovn ey . J(A)
YyeAML—xzyec A oxpnovx € J(A) m.x € Arnn Ao (0. |109UD

mMOMORPR PR PANWR ] —2y v P Y € A pw AYYvamrmz € J (A) v n>nn mn ann
YJEAM Ponl —xywarmuavno.l em,pv.r € m,nmanad v Tn .l —xy € mw P
mor op Az +m=A 12 2 ¢ mvpmoamorrowp v . ¢ J(A) v ja0

[ wvym,ponwrl—zy=mem,pryr+m=1lvpPpmemiyc A

DORTR O MOYS
0N by a OR ,AMT> M%NYa ANd N1 DWIN YRR DN 1Y 1) LA nma oHRTR n¥iap mna
,0N%Y 11900 TR DYRTN

a+b={a+b|aca becb}

1 mORTR Y nvap {a; | ¢ € I} nn a0y 099 jara b nvy a R pnpn YA Jopn YRTRA RN

9 vyny My a; = 01 a; € q; wNa ,Zie 7 @ DDA Y3 QORI 1N Zie 7 6; oY oon A

MR LA YY DaR on T, ..., 2, OR VIO (D27 YV )M Ja0NY VIa i € 1 Y5 My ) i € 1
L1, ... Ty D 9 (generated) wnnp oxerawn Y o Az, = {>°0  axi| a1, ..., a4, € A}
HRTR W NN A4 WIRDRA DY [, 4 PNn

T eRa b € bya; € a,n > 0 onw Z;L:1 a;b; ©mion 95 qOXRD NI ab nbacmn
%991 Sv 0?9101 TMIDA Y qoxrd af 1R k> 111y 07191 .ORTR YV 2910 1900 SV 199N BIPTIN
.a% = A prmn ar ,qom .a Yv AR YV ajas - - - a

a(b 4+ ¢) = ab + ac :n%n pn nr PR TIPOM Y9300



DN MINDIT

yanb =lem(m,n)Z ,a+b = ged(m,n)Z ovappn b = nZya =mZ ,A = Z v mpna  (R)
ged(m,n) = 1ok pnorab =anNb ,viv1.ab = mnZ

DMPNAN Y3 SV HRTRN A = Z?Zl AX; o K amodynomrnenin A = K[ Xq,..., X, ™ ()

[ .k n mup nYynn 01ar Mon oman Y3 5w SrrN ®I0 a® rr »1ap 1Ix 1 on

A by aiRPRIV INDRIMMRI A+ b= A or.ab C anb a0y HYs jana

nrnon Y% nwap i A, A, oan b A = H?:l A; (direct product) nyw nbasnn

" N RN NN Y9N DARN TR LDV NP HY DTN Yadm MmN x; € A; 1w (z1,...,2y)

50 DPaMMMIN RN 7 A N VY Tt A — A ndvan i 93y (1,..., 1) 2 mrnvm (0, .., 0)
0NN

1 9y 1mpn opammman nx p: A — [[1_; A/a; 31001 .A 203 DONTR A1, ..., G, P INLR [I0DYUD

plr)=(r+ay,...,z+ay,)
n _ n
.Hi:1 a;, = ﬂi:l Q; R, T DAL, ..., Oy DONTRID DY 23 DR (R)
SO AT DN A, ..., Oy DONDRAD DY O DN PIIONSY 0 (2)
n —
Ni—iai=0oxpnoxmwinme ()

.DONT ONTIR 1371 09 TINM A9 A D Ay, . . ., Oy DINTRAN DIY 92 OR OPOIMPR N7 @ (1)

P beEbia€awmmpaminiey.b=ax)a=a; 0w n=2v1PN1 % ONP AN X DN
[(relatively prime) .z € anNbvbz=xa+2xbcabpvb.l=a+0b

WY .y NNy =01 0p_1 MR 10— 1 M2 725 N30 myvawvy n > 3 » P ANy

a; =1 mod ap, M, +x; =1vPr; €apra; € a; Rl <i < n—15%%owp aman

vwymn =2 mpuin MY M owa, Ya -0, 1 ,DINR YM aq---a, = 1 mod a, 12

Jyoway,a M- MNay,_1MNA, =01 Ap_1May, =01 Ap_10,

5% n Y1 paiamm A5 omaR Tq,...,T, Y DN DN A,..., 0, O OTP PN 2000
mo .a;; =0 modajva;; =1 moda; wPa; € Awp Y .a;+a; =1 wpnn j # ¢
1xia; = a; mod a; ,PY J A MY a; =0 mod ajra; =1 mod a; )R .a; = Hﬁéi a;j
W YIN RN G Y ¢ = x; mod a; M T = Z?:l Tjaj o1 Yo% .j #£ i 95 x;0; = 0 mod a;

Sy o apavnn Y () = (21 + a1,. .., 2, + ay)

59N IRWI INRD NN



myon on Ker(p) = ()1, a; v ¥ @ nimnn - 2 0m9
n 2110 NYan myovn  :7nmM
1019007 NNNN PPN NPIRVA VAYA DR 1DHIN KD NVAVH YV NPTH MPON

Abdwomarar, ..., a, 1A 005 0 o mONDPR AL, . . ., G, PP (0200 DPIRVA VOVN) 1LKR NITOD

i=1,...,nx=a; mod a, vpx € Aopinw

2n A op X 1oown
aCp;vpeop ’m.U?:l P; 25 5TR a1 A DY DINUNT DORTR P, ... P P (R)
0, SP VDI DPING - Ay DRPPOAMURIONDR P 1 A S DoNTR A1, ..., a4, YV ()

P=aq, UPIDPARP=0a1---ay P =a; N---Na, dN,(2) 5w oxm ()
j

n— 1y monwypmrarn . =1y maZ U, p <= A a € p;rann :xnnm
DINR MWD a5 € PV P jopor.a; €aN; ;i pimp o0l <i<nvvadp;vmm
womi# k95 bEpopkmpoaywamn.adpob= 3" [, a; 12 .j 9% a; € p;
J# kwpy Il a; € pr o ymwon J], . a; € pi 199 [[,4; a; 05900 50 mnmn pa ay,

w113 ,b ¢ Up_; Pr © Y10 1 APNON .a; NPNAY T ,a, € P W P

A1 Gp € A1 G NP PY . €AaNPMIRTMO WP AR 2 Y a; € pwa»hvamn 22 nnm

MmNy nnoa
[ P=a; 02 pCaN---Na, Ca;nven.a; CpwvPiopY Yy () n 2000

9N NIPNA LY A DR PIYMR P OR PR OR ANR P Ppn ,p = pZra = aZ ,A = Z 12w nipna  :awn
PONVRIT HRTR ORY 1R PIVAVH YV 2 PON MR YR N2 .a C P OR a DR pHNn p v DNYaY DIMIR

[ 0NN TNR MINAY POHNN RN ,DORTR YV nHaM PHNN
2P0 1 RNV APR MY 2" € a oMayw A Yo T Mar Y3 qord paels A nn1 a SRR v YWY

17 1/a,0792.a I8 D97 DNWRIT DINTRA 9 5w o mw A anaa SNTR 5w \/a nYIYa CTW.R 109UD

INTN

DPNVRIN WHRTRA 93 5 1Y P IR naon npava T A — Abam A = A/a nnn amapany ann

8



LR 10awn 28,199 .a Nk mapnn A Sv ornwrin oorPra 9 5 7 1H(p) 12w ,A Yv

Ne=N="®="(N?)

p2a b

=r fzedl \/2"=0}={zcA| \/2"ca}
n=1

n=1

[ JNY Y 9



AN SV mvpson A

D7D PIININA PN N0 aNTnY A nn YV DYNVRIN DORTRA Y qOR DR Jo0) N1 Y02
no1 A Yo E nyiap nn 939 LA Sw ornwrin mYRTRA 93 qor Nk Spec(A) 1 jpor n A o
:TIRIN MINONA W nvap epnay V(E) = {p € Spec(4) | E C p}
V(E)DV(E)nx,EC E' or (18)
V(E)=V(a) =V(y/a) nx,E » 5 9810 YRDRI RN a DR (2R)
V(1)=01yV(0) = Spec(A) (3n)
V(User Bi) = Nier V(E:) mpnn A Yo mxap nn Y (E;)icr nnown 9 (48)
VYV ierai) = Nier V(a:) wpnn A 50 9RPR Y0 (a;)ier Mnown 925 (58)

L@)».r poavm wanwn) V(aNb) = V(ab) = V(a) UV (b) (ex)

ININV 2NN HY MM MNP NN YV MYATA N’ Mpn V(E) myiapno mmam 1vx mrn

7D 1NIP NN MIND MNP SV RNV ANAYAR YV TN MO MNP 10 AN 99 ApPIn NIpn

5% MYMITA DR RPN MDD MNAPN YV DHYYNI A0 IR 1N MIND NIVIIP DY YV TINR)

YY ANAYN TINR ,MMNa MX1IP TIAN 1Y) AN AP AP NNV NN Y MMnan M¥1apn

13 1982 NIHNY NNV AMNA NNIAP NI MMNG MY NV IM AMN AP NN MMN MY
Spec(A) Y rperar S M9V NRIP

Jonr ovm X = {p € Spec(A)| f ¢ p} o f € A%Y X 1203 Spec(A) nr 1no

A 5w a YRTR 935 ;19 Yy I .Spec(A) Yv nmna nvap nn un X5 Y Xy = Spec(A) NV (Af)

001 man Xy mw1apn qor 135 .Spec(A) N V(a) = U, X 09 (e, V(AS) = V(a) mpon

IPWIT NS

:mxan nona Spec(A) 5w pyar 2w bw X ¢ ooan mviaph :xa nnY

XinNXg=Xpy (®)

ooan fonpnon Xy =10 (2)

pon f oxprox Xy = Spec(A) ()

NAf=Agorpnon Xy =X, (1

103 NN W mmna mwap ' 5y Spec(A) 5w no3 935,9m53 (compact) 0T m9ow anm na Spec(A) ()
29D

op¥r oo nomt Xy miapan nnx 5 (1)

X ¢ Amean mwiap 5w 910 TNR 87 08 P11 D8 10T 73 Spec(A) 5w amns aviap nn (1)
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(fi)icr MMawn1 19am (3) DR ANY 1 .f = 112w () pYN Yv KvIen MIpnan Yan (1) pon o,0 non
P VA C D s AL V() 2 Nier V(i) won Xy C ;e Xy, opnn A mar b
g LT = Zie 1, Qi fi v royavtaom i € Iy 99 A Yv a; 0Mar 1 Sv Iy o0 AP DN RIOR

| s w00, X C U;ep, Xp mmr ooma .V (f) 2 N;ep, V(£i)

SrPrRAN @ 1(q) .Y = Spec(B)1X = Spec(A) jpo1.wan v oranmmn o: A — Bow

©*: Spec(B) — Spec(A) npnyn P1nY 1Y nIwarn 1 1T2Y LB HY MWRT YRR N1 q OR A Y0 mur?

H{(MATNAN MY1N 199) MRIN MDA T APRYAY 0™ (q) = ¢~ 1 (q) P Y 170 MM

nw1 % 0101 . (9*) (X ) = Yppm,f € Aor (1)

axnn B Yw 9xera wn o(a)B wra L () 1V (a)) = V(e(a)B) e ,A 59 S9vPr un a DR (22)
p(a) Yy

0101 X Yo V(Ker(yp)) nmon nxiapn nn Yy sammrmn jar1 Y nr npnyn o e Yy ¢ or - (33)
V(@) 9oyav jax1 ammmmn Spec(A/a) aminn A Yo a SRR 935

mv Y v LA S N(A) moarn pvIwn Nr PR A 1IN SV DINVRIN DORTRD Y91 PRI (42)
R1R 091N 1R .Spec(A/T(A)) Y rwav jara sanmrmn Spec(A) 199 .Spec(A) = V(N(A))
.O¥NEN NN 5V DITVPADY ANMIRMIN NN 5 HY IIMVPIDIY

(o p)* = p* o* M, DN S gon oranmma vn Y B — C or - (52)

Y o oy X e anama Y nviap an v 1300 DR jho)

map v armpna msy) mmo avap ma {p} ,va.{p} = V(p) nxonwsr5xerp ron Ao :aa 10own
pnoxq € {p} 18,900 mwRI SRR DA q o8 LA 5w 310 S8R 17 P DX p1 D8 (Spec(A) Sw nmo TR

b Cqon

,0792 .AMIR NI9PNRN NN MINIAPN Y9 SY JInnn 10 vIap YWY mon 2790

MR MY YV TINR IR ORY P71 108 X oR (irreducible) p9 o8 R10w X 191910 ann Yy nra

P7PR MIP RY MMNg MR nw 93 5w Pnnn ,pavny .X 1 wnn nYIn nnr Yov Mo

Spec(A) v191. 1K1 58N 117 A Sw /37 PYIYA DR P11 DR 2719 08 Spec(A) 59107 207 2 [I0DYUD

5w onn un A o8 79 8

11



939 fg € par .fg € N(A) v f,g € A omara mam p19 r Spec(A) v onp a0
V(f) = Spec(A) v yan mpmanwn .V (f) UV (g) = V(fg) = Spec(A4) mmY3 ,p € Spec(A)
MR ORTR 0 DN(A) v yan ron .g € N(A) w f € N(A) 15 .V (g) = Spec(A) w

v 7 Spec(A4) Yv Dy C mmxy mmo myiap nn mmp 1R .pn9 Spec(A) v moa jon
.D CV(g) C Spec(A)1C CV(f) C Spec(A) v f,g € Aowwpmy .CUD = Spec(A)
99 Spec(A) = CUD CV(f)uV(g) = V(fg) C Spec(A) ,m9 qom .f, g ¢ M(A) vioa
i R IR N(A) 199 .fg € N(A) v mw .V (fg) = Spec(A)

an Ao 1A arxIn
ONYRT SRR 17 \/a D& p1 D& 198 (V () porons) Spec(A/a) nx.A 5w S8R a o (R)

J omwnT SNTR 995 19 x V(p) 1 Spec(A/p) (2)

2o ame X o :na [1oown

210RY Do,k Y ammnnox (R)

2290 271908 2N nna 5m X 5w prroon anmnn 5 ()

ann nn . X N8 7DD DP9 XA 07307 DXANINA 5 QORI 1D P19 NA DIIINA DANIA NN TR 5 ()
.X 5w (irreudiclbe components) Brpr1a 80 3 IMN DN 19N

M mwR1 S8R un P wna V(p) amen X 5w pr1o x990 595 v, X = Spec(A) ronamn A ox (1)
A by

WY CBPMY CBUC .Y CBUC WY X 5 mmo myiap nn B,C vy & nnon

219RY pY.Y CCwY C Bwironyan,mmo B,CiyanY C C
2290 P8R AN P TN Y NNYA 2aY P8 R NN DPIA R TININ YV 1YY NIWIY TINR <3 1A

mn (1.2 nren) Spec(A) Y apa r nvap nn rn V(p) nr LA Y9 1pm omwry SRDR P o 7m0
TanRenn ./a Cp oY = V(a) v a sror op o .V (p) nr nopnn npa or Ao anap Y
v R Y LV (p) = V(Va) =V(a) =Y 1Y .p = Va vy p 5o nvipmnn mwry /a v pyan
X 5w 1op w3 10 V (p)
MYRT YRR ¢ 000 P onwr1 SRPR M2y Y = V(p) ,0mpn o .X Y0 pram 10 Y o jan
Vi)=Y =V(q) vymY S nramon .praxymo V(g1 Y = V(p) C V(q) nxr .pasann

[ SIVTN ONVRT ORTR NN P 190 P = g ¥ YA 2.2 Poavnn

12



112158 MIIap

N1 1YY OIOIR MHYYI NYYN YY1 K NR 9pnn m129R 10 77w €21 11230R 1o nTw K Oow
xipn K[X] 2 F omrme nvapa pam X = (X, ..., X,) 1epa vonon X5, ..., X, owmnon
81PN Nnb

V={acQ"| f(a)=0forall fe F}

DMPYIAN qOR AR Avap Q7 Y
I(V)={ge K[X]| g(a)=0for allaec V}

.V 9w (coordinate ring) moprnepn an xipy A = K[X]/1(V) nmn am K[X] Y0 drpr mnn
MR WaR ,1PY .91 = g2 mod I(V) or ponorx € V 939 g1(x) = g2(x) "™ ,91, 92 € K[X] DR
95 npnynn wxpnan mn x; = X; + 1(V) 0101 Q2 5 V' on proeompnan noepnon 9 and A nr
A=K[x]oprmia; vyacV

pa = {f € A| f(a) = 0} nxapn a € V n1p %Y :Spec(A4) nb V' n myav apnyn ma
oinn w A/p = K[b] m b, = x; + p mon ,p € Spec(A) or ,7a0% LA Sv mwry YRR 1N
D98 by1, ..., 0y 1 K 9V 197239% 090 00R by, ..., b 0 130D Y91 n1YON nHan YY1 mndw
noyn 9 o mwar ar) K Yyn mnadr omdn orRY ag, ..., a,. € QK (by,...,b) Syn
5 b; nr pnynn Kby, ..., b, — Klay,...,a,] K-orammern nr 20 (K Syn maory mboy:
1br41,...,0, 5O MNANN DR 1701 (P98 0 Q 3 war A1)  Pnd Kb Y oramminxy a;
Sy mar mn V' — Spec(A) npnynan .p = pa w1 K [b] =k K[a] ovammpr Y3pn a,q1, - . ., 4y,

b or 2290 SRPR M Py PN AT N Ka] = Kow,a € V(K) or V(K) =V N K™ jno
139 .b; 9 a; nx poynn K(a] = K[b] K-opammpr mp R pa = pp 1 V(K) v naon n1p1 ®on
072990 DYRTRA Y3 NP Yy 7 1 TN jara V(K) nr xar npnyn V' — Spec(A) npnyan.a=Db
HY NN T PPV IR (TYHNI NINY) V72N YV DOarN vawn (Max(A) 2 mnpnn) A Y

5w mMVYTIRIPN AN Q" 1 P Y9 moarn Y qor nr V1 jpon K [X] Y mmwry Svor P o
T1y.. .y Ty DR DRI AR ,2PY WRIW 203 2, = X; + [(V) woxa K[X]/I(V) = K[x] v V
P9 R Vv van pnwrt P v nmayan .(generic) nagy nXIpin Vo5 nTp1d X nry € 5w omaxo

Vo2 vnn mbomn nya2aor mxiap Sv minr AR &0 ,amYa (irreducible)
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Y99Tin .
DTV YR 070P1 07anan v nY%5n3 7ooan Yyn omn” 010 Nt 9'yoa

DTN HY DNPINMMM DTN
e (72Nd NHYMN nnb;ggw) M mavn nan nn A5Tin (AT YY1 'adn ,Tnn nd) an A
:x,y € M ya,b e A5Ymran mwatn nk npnn M 5y Sxnwn A Sv noys oy
alx+y) =ar+ay (IN)
(a+b)x =azx +br (28)
(ab)r = a(bx) (38)

dz =z (48)

a € A%5a=0rmaM = 0 ox (faithful) gy A-57m 20 M v nx)

TINT

A5Tn un ey 4 ,0701 A5mn an A Yw SRR 9 (1)

KO 5yn ommom amn un Ay s ok K nmoun A or - (2)

SR aman un Avmnor A =7Z or - (3)

DReY apnyn oy K 9yn mmvpr ann kR wr Amn o, A = K[X]| or  (4)

5350 1N B mara A mMar Y %900 1wy A9mnd B pr mir1Y qwar ,B an Sw annn nn A or - (5)

B 7m

or A-opanmmn nxipy a: M — N npnyn A-91n M, N v

oz +y) = a(z) + aly)
a(ax) = aa(x)
OV AN YV MIRPY 1pnYn RYR IR A-ppravmmin v Aok, y € Mya € A %Y

Aropannimin un A-npanimmn Yv naon

5931 Man YT CASTNd N A51nd M A-57mn A-onratimiminn 95 qor nr JanY qwar

120 joR2 A Sv ara
(a+ B)(z) = a(z) + B(z)
(aa)(x) = aa(x)

Hom4 (M, N) 1 nr A“5rmin onon
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npnyn mMon A-9mn Y pu: M — M oapemmnin
p*: Homa (M, N) — Homa (M', N)
npnyn p1n Aomn Yo v: N — N opammmn & .0 () = o o p1:xan jax1 000
vy: Homu (M, N) — Homu (M, N")
AD9Mn Yo mnranmmn 10 Mpnynn me v, () = v o a P Yy nmnn

= (1) Yy 11mn Homa (A, M) = M >pao orammexr mrnn M A-9mn %% go15

N 9TIM DTN NN

M /My ninn pman LA »ara %95 nnn amon M 5w aman nn ua M A= nin Yo My 51 nn
ann D1 vapy M /My S91nn a(x + M) = ax + My 5990 naya A“5mn Yo mian nvapn
nRIPIN A9 Sv opanmmin mn © — x + My myavn apnynn .My 2 M v (quotient modul)
nn 9 qor nr Apnyn L — 7 1(L) apnyan .7 2 1% MR a0y .(quotient map) mmn npnyn
My nr mopnn M 5w o9nn nn 93 qoR 9y 091y 0 TN jara M /My Yo o5minn

napn R ,A-9n Yv oremmn wn a: M — N or
Ker(a) = {x € M| a(z) =0}
L, 5 annnn nmT a8a .o Y pYyn kg M Sv 9y1in nn nn
Im(a) = {a(z)| x € M}

nnn 91n N Sv 1in nn mn
Coker(a) = N/Im(«)

. 9v (cokernel) py1-ipn xIp

w9y az M /My — N npnyn p1n% wer Ker(a) 2 99mn M 5o 9mn nn nn My or
nr My = Ker(a) or 0101 @0 m = a mpni A-9nn Y opanmmn o .a(z + My) = a(x)
IV DPANMPR DYIPN

M /Ker(a) = Im(av)

D9TING PYRIN DPANMDRN VOVN 1T
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D5YMn nn Yy mbya
nnawn (M;)ier ¥ Avmn M o .o5mn nn % mbdya n5HOnh num mOHRTR Y mbdyan 13
o 0 Y vy x; € M, onaw Zie 7 Ti MDA 93 ORI 1IN Zie ; M; mv0n .9TNn nn YY
Tnn o LM YS9 9970 nn RN .Uie ; M; nR moppn NN NN 93 YW PNNN NN DIDON .DARY DY

S o un (e M

N2 |I0DWUD
L0390 avamern vawn) (My + My) /My = My /(My N Ms) e ,o9mn nnon Mo 1 My oy (R)
o590 avamern vawn) M /N’ = (M/N')/(N/N') e, A-mmon N’ C N C M ox (3)

S My n x — x -+ M; npnyn DPTn PURIN 1PN .0YYIV 0N DNPANMPRA Y 000
9 M/N' nxz+ N' +— x4+ N npnyn ovhn non napna My N My avyww (M + M) /M,

| JYRIN DPANMPRD VYN PR DYan o1pnn vl N/N' avyaw M /N

> a;x; oraon mmIDN YINn 150 M Sv S7nn nno aM nr oPHn A S® SRTR 10 a or
2L, € Mya; € annw

(zi)icr vy, M =3, Az; ox M Yo un Az = {ax| a € A} wwa € M o
Jra0 i M v Ry a1 vy nxap MY w or .01y n¥iap mn

vz € M omw (x,y) mmm Y qor ua ondw (direct sum) awn ovon .A-mn Ny M v
M @ N o1 5 pon ar 9mn .0 0 Y 0nn A »1ara beom ann L,y € N

(7i)ier MO52mN MYTON 93 qORD 1IN (M;)ic7 APD1mn NNawn Hv 3Wn DIEN ;1N 1903 j1aKr1

985m MaNn .DARY 0NY mx; 1 93 VYPd Bnaw ([ [, ; M; mroapn nvaonn Yv oMar nwynY on 1Y)

i€l
D,c; M; 2790 DN NR DINON DI 28Y 1w DR A Maxa
apYan J # i 90 x; =02 = 20w (;)ier 1A () v vmx € Mjvj e 5
DRPaMMMA YW (a;)jer MNAWNH 93 .3 TN N DraMMMIn IMYI) PN wn €5 M; — @, M;
aoeg; =a;vpa @,c; My — NP opammma nvmn (5 2790 1wrw) N A-9mnd M; Yo o

a((wi)ier) = D ;e @i(xs) 99307 5y 71 A oranmmin .j € J 95

JPOI0 DN DINTIN
4 €195 M; =2 Anv @,; M; nmzan A-5mnd sanmern 5min un (free) swan A-5rmn

A™ 1 Ao wpny 1Y 79N 0N DR DINoh DIIR 1 N2 e Avap 1 v napna

spavn oaw s may A™ 5w mn xn o pn ox waw awn M A-57mn :aa 1oown
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| M opnd A Sw oranmimin mn a — ax Apnynn x € M Y3 Mayw pxY paon  anomn

pnm A 5w poapy nwiwa Spn A 5w SxTR a 1 e v Aomn M op (dp) Yv an%n) 2a 10DwD

M=0nmw.aM =M

nmnn ey M Sw onxy Sw mwm axiap n > 1 oy ug, ..., uy 0 M £ 0w a»hva mn anon
(I=ap)uy = arur+- -+ ap_1Up—1 VIR Uy = AU+ -+ AUy VT A1, ..., Ay € AP
D R Ly, = (1 —an) tagur + -+ (1 — an) " tan_1Un_1 199 790 1 — @, 0.8 M02WN %Y

| M o= 0w amom W AVR0 U, ..., Uy YO RPN T M DR DY Up, ..., Uy

ppom A 5w poapy pwwa mn A 5w Sxmr a1 smn nn My e s Ao Movap 1A ARXIN

M = My .M = My + aM

9 .M /My = 0 33 poswn 0y M /My = a(M/My) wpm mowo e M /My ninn 91n :anon
| M = M

may A Y amp: Sv Mndn IR DYDY RIOR TWAR .M 12907 HRTRY NOIPY’ YW M A mpn ana

HYYVINYA N7 DNYS NY'NINY NNIT7 NN

YN T, ..., Ty € M v mow xn 9mn M oo ,m 029 S8R DY mpn nn A o oina [10owUn
X1y Ty N CA/menranwn aTw Svn M /mM smopin anmns ooz onap x1 + mM, ... x, + mM
M nx orey

| M = My 33 nren a9 0% M = My + mM ,amnn 0% My = Z?:l Ax; oy :anon
JAmp1 YV N’ MNINRA MRIND YOUN NNR 925 VN2 DN NR

Diprm NivTO

A-mnranmmm A-9mn Yv n71o

QG — i
= My —1M¢Q—>Mz’+1 —

10191 .M; 523 npyIn R0 or NP 1T Im (-1 ) = Ker(a;) or M; 2 (exact) nprm mn
P N N @ or p o’ nprn 0 — My —— M naton (12)

B
Sy for pn ok npm M — N — 0 nyton (22)

B
vIm(a) = Ker(8) ,p» 1 M oo or pm ox nprn 0 — My — M —— N — 0 m1ton (32)

M/Im(a) = N opanmpr mwn G arnpna Sy

17



(short exaqct sequence) M¥p NPPI MITO NXIPI (32) 2 NYOIIN NRT 10D NTTD

Qe
MO TADA TPNVPY NN YV NPT T 0 — Vo —5 VS5 - SV, — 00an o amy

S (=1 dim(V;) = 0m K a7 Yyn

=0

139 .0 — Ker(a;) — Vi — Im(a;) — 0 n18p nprin 0170 19 9 4 539,108
.~ (=1)"dim(Ker(ay)) + (—=1)*dim(V;) — (—1)" dim(Im(cy;)) = 0 (1)

i nwpann AN nr mnm 77y 0n (1) Yy Ao Im(a;) = Ker(aiq1) 1980
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97N YW NIV NYomn T

DN DOYYTING YITIN N1 DAY 1T Y AT YD
DRINN DR NYpn R0 or A=mareb-a mn o M X N — P apnyn .A>91n M, N, P vv

a € AvNy,y' € ,x,2" € M 95 oran

a(z+2',y) = a(z,y) + a2’ y)

alz,y+y) =az,y) + alz,y)
a(az,y) = ac(z,y)
a(z,ay) = ac(z,y)

A-mnranmminn oy A Smn 995w o N v M ooonm o5mn pnn 177 A-5min ana kan poawvnn

P 0o M x N n A-nvaryban mpnynn oy 51y 70 0 nnrnna

apvn 72 M x N — Ty A-omnon T v (T, 1) mrop s A-amn N 2 M vy :xT 10own

:ANan Amonn oy A “nrInrsma

vpa:T — P v Aovomomn op a: M x N — P nrwwsoa apnyn 599 P A-5mn 95 (1)

o orT =«

nMXNN DYYRMe MO TN Ar Yn mar M X N oo Sy avnn C owann Aymna pam oo
Co » .0ar 0% VYWY A v MR DN Az Y M X N 2R 93 5y 012w (7, y) 0N Y ag (T, y)

:17I8NN 0ARN 99O Yy axnn C Yv minn nn

(z+2',y) — (z,y) — (2',y)
(@, y+y) = (z.y) — (z.¥)
(az,y) — alz,y)
(2,ay) — a(z,y)

Rt Y T o 2y = (z,y) + Co oy C Hv (x,y) oo17ar 939 1T = C/C)p no:

PO T QY
(z+a)oy=z0y+r' oy
r@y+y)=2zy+rxy
(az) @y =a(r®y) =z ay
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Armwreyma i 7(2,y) = 2 @ yor Yy mmnn 7 M x N — T apnynn 0701
mn a or .a: C — A A-gponnmnd manny mm P A-59mnY M x N n « npoyn 9
oranmMn Mwn R0 P anxy Cp Yy o P Cp Yo DIxvn Y3 5y noarnn ®n A-marpry-a
A or=a mmroom.(z,y) € M X N9d(zRy) =alz,y) vp Amwa: T — P

| JIINRD ORIND TP HY T jaR2 mn o’ v Py Q015

R ,(1) nr opnn qon it xan (77, 77) or Lpry a%w mpme mv (7, 7) a9 (1) nnann 2.7 270
oot =1tvpo: T =T Amponvmmnwpoor =7 vpo: T — T A-opammmin op
v P owpna T my (1) mmaw mrmem ym idror =7 on Y .o’ ococor=0" o7 =7 9%
DAPONMPR DN o’ on o oy ,Y .0 0 o) = id W Yyan imT1aR1 .0’ 0 0 = idp
50 nnvn Abamn N1 Ay ’apn M @4 N 2T nx mor (T, 7) 2 Sv mmn mapya
N Yo oy nwap mn {y; | J € JEy M Yo oawy nwap wn {x;| i € [} ov N1 M

| M @4 N S0 vy nyap mn {z; Qy; | (4,5) € I x J}

7: My XXM, — P nyir»v 11 mpnyn oy »nnnd 9war ,niare»a mpnyn oy »nnnb opna

A9 nnd Sv IV NYacn Yaph

st apnvom T A-5mmn 25701 (T, o) op o Avomp My, ..., M, vy 21 joown
ANy mona novaT: M x M, — P
o: T — P pw A-oronmma op o My X - - - X M, — P vy ppnpn 599 P A-ormn 935 (2)

dorT=avp

doo=T17 wvpo: T — T vrovonmes opr,(2) wmanx mnaxopn (T7, o) nrox,p 5
NPV MM P2 DPYIV DIVP IND NN RIN NVAVARN

o A-mnranmpy owp ik A-nmn M, N, P vy 1.1 10000
M®@AN—N®RsAM ()
(M@N)QP —-M®s (N®aP)—>MaNRsP (2)
(MEN)QP—-(M®P)d(N®P) @
ARaM — M (7

v j983

TRy —-yRzr (R)
(TRYRz—2xR(YR2)—rRY 2z (1)
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() @z~ (@ 2z,y®2) ()

a@xr— ar (1)

JIMNNN2

DIR1N YY WY I MINON MPNYNNY DORIN ORNY GaRY P12 aRN IpNYN DPTN 01Ipnnn TR Yoa 700
DAPANMIPR 11 DPNPNN MPNYINY RN .DNTIND Y 01 1Y 3T MaN MPHYINY MPNN 0pom

MXN — M&N®P marp9-10 npnynanann z € P 7arn R ey .(2) 780 nr nm7o noom
PAMY o MQN — M@ N ® P ovanmmn mwn ®on .(z,y) — £ @y ® 2P % nimnn
7 9 apin (M@ N) x P — M ®N @ P nrrY=an apnyna mam any .o, (2Qy) = tQyRz v
NIt 9 MY oy () = az(t) +az (t) 7o oanwnn nva narvb v apmn L(t, 2) — a.(t)
a:(MRN)®P — M®N® P oranmmnanapnynnmwn vt € M @4 N Dmympn ey
A9 Yo

brRyRz)=vP [ Ms NRsP— (M®sN)Ras P oranmmn 3 1ann
XN 1NN DR 9959 (RN .TINN YY D3 199 oven Sy Y mcen Sy a mpnyan (2 Q y) ® 2
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Q€A mmHYvamo y 1Y ASnohw y oa,pn ASyn oy T paran MR Y p My y € K v
wArno (2) vnvima, Ttz € qU P T € Aut(L/K) mp iy eqd gy €qg NA=pwpon

K 9yn iy aroming g7 v g v nnoomn

nanin mn F onaw (E,0) o 93 5w £ nvapa mam .xaws momm panin L/K 2 ogn
R nmp.o(qNE) =q N E oppn Aut(L/K) Y9728 10 01 L 2 n9wmn K 5w oo mHnm

Mo .o’|lp =01 ECE orEammavmy (F,o0) < (E',0') gvn .(K,id) € € 1w npn

34



E' mow nanin E 9 nwp nr ,E # L or .€ Sv (E, o) 270 7ar mnn 1nx Y andn .E 9y phn 710
ong NE vo(qNE') mx E'/K Y9 0 opanmory o nr 211 K Yyn nvdna wnw L 2 ndann
7 € Aut(E'/E) mirnmpn .q' N E Yyn mnnnn EN B Y E' N B 05wn 100 Y9 07nwr1 DYRTR
nrw (B, 7o) . axnar e Aut(L/K) So Ry 7o vnuso(qNE) =g NE v

i wpam,oq=q v E = L v amrom (E,0) Yo nvamny warno (£, o) n won 57 € Yo

po C py v .50 o A nK& pnn nn B oan mnbwa mo mpsw oinn A o (0 i vawn) T DOWD
nnm g1 2 59m7 g2 MYRI INTR B 5 0p otk 1 5o nnnn B 5w mwund S8 TN q1 0 A 5w oronwn moNTR

b2 oyn

B C A" nr L' 1 AYv ndwn qiaon nr A’ 2 non L nr nopnn K S L' mYnm namn anay 09
SwpPrgom i =1,2,9,NA=p; 0P A 5% g5, C q] ornwry DYRTR WP WYY vawn 2ab
v 0 € Aut(L'/K) 1o 23 noswn .py Yvn 03 199 (0.1 vawn) q1 Syn nnnn qf mwrt Srpr A’
nINM 1 2 99m0 B 5w mur YRTR RN g2 W 999 3 g2 = g5 N B gy = oq) 1o .qf = odq}

| RUSRARIN SR
JIN%YA RIN AR M0 MNYYA T30 NINYY DIND YYHN DMIrNan NNY IR 9oad

fg € AX] ox.mippn mowhe f, g € K[X] 1 K nun a1w 5pa mnbwa mo mnbw onn A a0 an'7
g9 € A[X]

n m
5w AbanY g Yvy f Sw wpman g(X) = [T, (X —y;) 0 f(X) = [[,21(X — 2;) v :anom
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mink ,ad, = A, = (pA,)° e p1 # p or .ad, = pitA, - phrA, - pke A, = pht A,

i 2119 ,p A, Y0 Apm un ad, orpnn nva .ad, = (pA,)k

SJPPTT IN RIPI TR VAV RN DR PR A Mndw oinn

TR ARXINND SV NN9NN DR O3 191N NYHID 1.8 Vavn YV 7(R) <— (3)” NnNON
LOPNUNT DORTN D 1992109 937V TN 2179 DARND DN INTK 230 w2, TPPTT N1 10X DOWD

MYRT HRTR 93,195 1037 70 Mo Y¥2 701 N un A V191 JVRI NN A LDPYRT DN N nm7
Y Z 0192 071 00 un A 195 .00 oawn nr 17) mnbwa o A ;7p% qon oain A v varn nnw

] Arp11omn on (n1w Ko) Kox]
FIPTT NN YV MADN MRMIT DTN TIYRIN DNNN

A 5w obwn mon nx B 2 mon K 5w mow A nann Lo K nup aw 592 mwp11on A s i 0own

rp1ranun B v L2
NYvw1a WO 0 OINN RIN B 03 ,(R)N.N Puavn 8% .mnYvwa 1o 01 0NN N0 A amnn ced  anon
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2% .(NJ ARYIN) 291 B YW parn nnw mmwr1 YRTR Y5 03 22790 A YW Darn AW MIWRT YRTR 931 RN

| JrprTranvn B

MM NN Z R 07 ey K a1 Z 5w 5wn DN DR Ok 210 .Q v oo mann K »n :nw nm7
7700 R0 O 03 1R Vawn 1Y 139 TrpTT
5w pbwn Mon xR LK Yw oo Al mamin Ly K = Ko(z) ,mnon x ,ntw Ky v nny

i arp1rn an La Kolx]

nR B a2 mon K Y mooo nnva Al or nanan Lo K mn 7w Y2 pT1 an Ao con 930

[ 50 o0 nanan Y% 1oy LR vavnY pon .TpTT AN ’n B v non L a A v nbwn 1mon
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DYoNN NIPIN PPV HY N 2

9PN OMYNRTD MIPIN MV YV NN .0PHNRTIO MIPIN MV NTYRL 01T NPYINI DIDIINN NIPIN DIV DIPN
TN MDD DAY D20 A Sw MNP NR 0717 0PN DY A pim an

“nma nva A 1 onTpn oy X 1 (formal power series) Snma mpm v an A o
20aNN DIPNRN 1N ap MR 4 = 0,1, 2,... (7100 mIpn DRIPI VR DIR) a; € A 1w Z;’io a; X*

$RIN JOR2 MPIN MY YV Y931 1an o 1n LA[[X]] 21990 miprnn v 93 qoR DR jP0)

i a; X"+ i b X' = i(ai +b) X"
=0 =0 =0
O a X)) (D b X)) =) Y aib; X"
i=0 i=0 k=0i+j=k

D DNTPRN IRY Y21 RN ap = 11 ag = 0 onaw mpmn > o A[[X]] Yv nrm parn
A[X] »nn pr PYY N1 LA Svn X a2 orvnman mpmin »mv an xipin and A[[X]] 190 A jara Joarb
a; = 09v > 25 a; X" mpmn o nr mernn A[X]2 Y0 a; X oo 55001 vy A[[X]] nma
2> 930

i 7 0 ymayw anva jopn i 3 A[[X]] Yo f = D77, a; X oaxrn inw 7ar Y 1700 DR P
ord: A[[X]] — Z U {oo} 7700 mxpna .ord(0) = oo vapyw > Yy 1 n3min owi ord(f) 1 1no:
:TININ MWYMITN DR NNYPN
J=0orpnorord(f) =00 (r1)
ord(f 4+ g) > min(ord(f) 4+ ord(g)) (a1)
ord(fg) > ord(f) +ord(g) (M

nvw ownn »n A[[X]] oa ar napna ord(fg) = ord(f) 4+ ord(g) »x ,minbw omn un A or  (T1)

S Y ), 0” = 0w Y1 X om Yy awan A[[X]] Y YRTRD DR a 1 jnor oR
orR PN OR f € a” p oy pm ojaxa yapr mIvca n o A[[X]] 2 nondnn 1o Yv
DNYWN 079010 NITO DR P OR DarY narw A[[X]] mar bv f1, fo, f3,... m70 39 ord(f) > n

AorRY navw ord( f1), ord(fz), ord(fs), ...

X vaop oy A[[X]] sw onrsn oA 2003, A 5w Sxrr a 1on A v iR 10OUD
X T 5P WA ONTRS DI DOWY DIoNNON PN I N (R)

o (e o]
oA =0, _oa” =008 ()

.am 5y wun A Sxvrs oma odwp A[[X]] e ,a Sxas omapswvn A ox ()
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A 3pan ag 15w wann orppn ox pr o8 A[[X]] 2pon f = oo ai X mpm v (1)
nn 15w 22300 S8TRM Dowp smpn on xn A[[X]] o A bw oaann Sxvrn meo powp ompn A ox - (D)
M= A[[X]|m + A[[X]]| X

Doy k9% o (o AT Ywar f =Y 0 a; X o cannom

k+n k+n e’}
Do aXt et = "dHrixt e Y AXT
i=0 i=0 i=k+n+1

J=0wmwomar = 0,95 .a; € a™ v Yap) parn w1 X k 59 mnTpnn nr vl ox

a;; € Aoy f; = Z;’;O a;; X7 own 25 oma A[[X]] 10 m119 f1, fo, f3,... 00 2 nnom
ip > k4 n mp m opav 1900 1O JIRY.A Y DN MIP NITO RN A1), Aok, A3k, - - - *YA0 k 939 oM

JO9 4 > 19 999 f¢+1 — fl € k4 v I3

fele) k+n [ele)
Z(ai"‘l:j — aij)X] - E Clk+n_JXj + Z AXY
§=0 =0 j=k+n+1
VI A4k — Qi € a7 ,19Y
noy (a9 oma) A Yv ay MRY a1k, Az, A3k, - - . NITON NOAN a Y oma oHwn A 1 R
_ \o© k
Asom f; — fomom f=>" " apX
D 0> 009k =0,...,n— 191 a;x — ap € a” 2 ip WP IR IYIV 190N N RIAR

fl — f = Zzo:()(aik — ak)Xk e A"

ag € A paghy =1,0m1.fg=1vPg=> .-, b; X" op pan for 7m0
g = — Z;’Zl a; X" wamn nnn .ag = 1 v miv o1 11 £ nr PonY Y ,on ag DR ,J905

S =Y2 g f=1—g

N1 M ORI ORI Lag € ANmom,f ¢ Maor A[[X]] v f =D a; X naramm 7 onon
SRTRN M N v Yy on LA[[X]] 2 pan f,(7) 29Y 1Y LA 2 Pan ap 1arn A YO TR 1100 YRR

A[[X]] 90 pron saann
i X Yy 2 SRR oa ohwn A[[X]],(3) 2aY 135 .0arn YRTRY oA nYwn A nn X D

f 2 X°rdF) Sy mipnn wn f Y pannn otpen . f € A[[X]]
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v n s A[[X]] paore, 0 00 00 A by 220 10owD

oy T’ DARN TR DR @; 11001 4 > 0 995 ;o awn A[[X]] Yo 2 SRPR 950 mond why Ao
a0 Cap Cag C -1 A0 SRR X1 AT qOR .2 3700 [ € A 01ar Yv onnnnn DnTpnn Y3 qOR
MY A IV A1y - Gy (s) DI AN DN PN > N NDY A = a, VDN WP I0) Ay Hrin

o~ fi; 7O O La;; P oI v fi € A1 < j <m()10<i<n%d .i=0,.
2L nr oaxy

d < mor .a€ag o .f Yo ponnn oTpnn a o d = ord(f) oy .f € A
Sv R M g = f — Z;”:(f) baj faj 1Y .a = Z?L:(f) bajag; © 19 bai, ..., bgm@ € A oop
DY .a = Z;”:(?) bajan; © I3 ba1,- -5 0ammn) € A 0mp d > n DX ord(g) >d+ 112
ord(g) >d+11A5%marung=f — Zm(") baj fnj X4

Mo [ < n ,onbw omaon v 0 < d(0) < d(1) < d(2) < -+ n%Y n770 R¥NY RIBR HIm)
Jay = k>190dk) >n kb <19%dk) <n w1 AR5 gao), da), 9d@2)s - - -
v,0rd(gacy = d(2)

m(d(k)
9ak) = 9d(k—1) — Z back),j fdck),js k<l

j=1
m(d(n))
gd(k) = Gd(k—1) — Z bd(k),jfn,de(k)_n> k>l

j=1
Sapar > [ 93 My
1 m(d(k)) m(d(n)) T
F=200 > bawsfawi+ D (X bagos X ) fus + gaesn
k=1 j=1 j=1 k=Il+1
91232 Y2p1 ,HIOPRY GRYY 7 H 1N DR
1 m(d(k)) m(d(n)) o0

f= Z Z bage.aFao.s+ - (D bagn X O fog
Jj=

=1 k=r-+l1

[ | JINY 1w o)

DANWYN HNTIH MPIN PV VTN .DIANWN NHID TNR NINVHN MHRTIAN MPINN NV 2WIN DR IRY DY)

4 noynn mmn 0w v f; € A[Xq, ..., X,) tora >0 fi onma ooon A vvn Xy, ..., X,
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mrNoIn P %Y R a%am man vm R = A[[ X1, ..., X,]] 21981 mpmn v %5 qor N jno)

o0 oo oo
Zfi + Zgi = Z(fz + i)
i=0 i=0 i=0
(S8 (E0)- % fu
i=0 §j=0 k=0 i+j=k
YV ormnn wponn DY f IR owNY P Sy mpm v oy f € A[Xq, ..., X,] owha nnn o s
annny R = A[Xq,...,X,]ynny R 930 N1 1R .PDAR T HY DIDNN DMIARN DR DOVN
w k> 0 99 aan e A[[X, ..., Xaq][[X]] 2 1ax by R 2 7ax Y any ann
nR .k ndynnommin o f € A[Xq, ..., X))

k
(X X)) =D (X, X)X
§=0

199 .7 nYynn oramin oMy on fi; TR

o) oo k
ka(Xh o Xp) = Zka,k—j(Xl, o X)X
k—0

k=0 j=0
o . (2)
= (ij+z,l(X1,---aXn—1)>X%
j=0 " 1=0

;0N YV Nar nYap Ao jara LA X, ., X 1]] YW 7ar nun pankn o2 X Sw o1pnm
Al[Xy, . Xl = Al[X - X ] [[X]] (3)

9y Axnun M ORTRY oma ohw A[[ X, ..., X,]] © Py ,(2) 2 wn pmwn pr DoAY 1D
1Y f; Yv prsn nn f; = Z;‘;O fig V. 90o0p maTo ®on f1, fo, fa, .. or oy X, X,

AR f; wIRon i > i(5) 939 fij = fi).; P9 firr — fi € MITL 0 90(5) mp j 939 e ,mommn
LY AR PRI NN (ML DY IR) 1770 HY D120 190 ﬂ;’io M =0wiym. f= Z;’;O fl-(j)d- Y
fi € AXq, .., Xpoa] a0 A[[ Xy, ..., X)) 2 f =200 M0 9 mx1o i ,nre mapya

5w P 928Y AN (2) Yv P gra om A[[X, ..., X,]] v 1385 03 @ AYynn smmn owne nn
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PN 1YV WwHYN arM (2) Y© NWVA TaRD P2 WIanN v r 930 A[[ X, ..., X, ]]

oo k 00 00
ZZ Jrk—i (X1, .. 7Xn—1)X% — Z (ijH,Z(le o ,Xn_1)>X7j;
=0

k=0 j=0 j=0
0o k ‘ r 00 .
= Z ka‘,k*j(Xlu <o 7Xn71)X7‘ZL - Z (ijJrl,l(Xl: s 7Xn71)>X$L
k=r+1 j—0 =0 " 1=0
— Z (ijJrz,l(Xl,---,Xn—ﬂ)X%
j=r+1  1=0

2 ORNY YR DY PV 12 Mty PV IINRD VA DV PR AR DV DRI0AN TNR Y31 DIARAN TR 9D
Y01V 293 ,DARY 11V RN 199, 2 5931 15N IR HRNY Qar oor INT L
Dnvw oinn w0 A[[ X7, ..., X,]] o3 ,mnb oinn 20 A orw L(48) 0% ;AR N Y RPITIR

12,20 PVAYN YW NYYIN NR DYAPH LD D

avan s A[[ Xy, ..., X,]] oo vsnnwn A ox 2.2 0own
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DPONMO MPMN MV DY MY Th MpPrIa .Y

TP TN MPI9 YY1 RIN ATV SYR DINYH 12 BYYRMAN MPINN PNV NNY N PI9T MM
W 81 A[[X]] 90 f = ap + a1 X + aaX? + -+ 128 .m 2270 YRR 1y mpn »n A
an € A%vag,...,ap_1 €EmOvPN>0 P ,IM% .m 5 DV WY DRTPRN Y3 RY DR DIVYM
50 DnTppn 0 ,m Y 2w g € A[[X]] mpn Mo v nTpnn Y3 or Lf Y9 7T 1R AT npm

070V NV DN Ay g 03,0100 Mo RN 1 f = gh or,pY m S v g S ahed 9

[ € A[[X]] »1pav 10001 om0 ;m 2270 S8R DY DOWH 1701 MPH NN A (TPIRY DY NPYN) N [I0OUD
1g=qf +rvporrr e A[X]1q € A[[X]] ompg € A[[X]] mpm v 5518 1 73770 07001 M0
deg(r) <n—1

w9y a,w: A[[X]] — A[[X]] mpnynonw v ((Manin) A

Oé(z bZXl) =bp+0 X +---+ bn_an_l
1=0

W) b X") = b + b1 X + bppa X2
i=0
h € A[[X]] 999 nrarvy mpnynn v
ywhX™) =h=a(h)+w(h)X™ ®)

no—1anra %Y avymp owhemn hor pnorw(h) =0 (21)

(1R) 299 w(g) = w(qf) v 19 ¢ € A[[X]] Yo mrn orpn nr nIY 1wHYY Pan (1) *RINN

cw(gf) = wlqalf) + qw(f)X") = w(ga(f)) + wlqw(f)X™) = w(qa(f)) + qu(f)

vy Al[X]] 2 pon w(f) = an + ans1 X +ani2 X2+ 0 (DR Poavnn yan a, € AX 1 9Rn

v 1 A[[X]] 2 2 Y0 mPPm ovpn nr Y WHYY Lapn h = —% 12 = qw(f) mox

w(g) = —w(zh)+ 2z (2)
% nimnn mxy Pnd A[[X]] Yv npnynd w o b nx axm (3) axona R Nab 1D
NMEN R (2) NRwnn nYapn arjera LA[[X]] Yo mar apnyn nr 1 ano pmd (wo h) f = w(hf)

w(g)=(1—-woh)z (3)

_ olf)
M) h = o

€ m[[X]] v vy f Yy oranan 1R a>an apnyn M 1 — w o A v noom
o (w o h)Fy € mP[[X]] v meprmxa pn Ly € A[[X]] ®er o L(m Y 2w h Yo mnTpen 9
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v Y o0 (w o h)"ly = wo h((wo h)Fy) = w(h(w o h)Fy) € m*{[X]]

(1—woh)” Zwoh
k=0

,(3) YO DR MY Sy Mk Pyar ok .1 — w o A Y nnann mxy TN A[[X]] Yv 200 IR Apnya X0

i 2= (1—woh) lw(g) mnT,2 Yv MM OYPA PR Y2p)

f=X"4+a, 1 X" 14+...4qo € A[X] 1pnn Dir5a .m m17n SRTR Ty mipn nn A 1100w
2070V MY WA f VI .ag, ..., ap—1 € M DR (Weierstrass polynomial) oywwyn minha xp

070V DDA 1Y MIN DIVY MY DV NYAINY PY)

=300 a; X" mm o3m SNTN DY oown mpn an A (D70VP) YV NIDNN VYD) 1.3’ I0DWN
2 € A[[X]] 1n abynn orwwy ow9a g naw f = gu A%asns f N8 »¥ab 0 R .n a1 DIVY)

w=u"19=g¢ mu € A[[X]]* 10w oo na g’ av f v qonpraxn f(X) = g'u’ ox

r=by+b X+ --+b, 1 X" 1 € A[X]1q € A[[X]] RenY 115 DPYPIR YY 1oNN WHNWVY AN

Ul

"=qf+r (n)

nwm (7)) 2 maen gf = coan X" +dp 1 X+ mod moR g = ¢+ 1 X + - - ow
Pan co P by, ..., b1 € M cpa, =1 mod m ;M parn nwa 1, X, ..., X" Yv ontpnn
nwpInn MENN DR 91PN (7)) N f Nr ponb xer Yom .(aw poawn) A[[X]] 2 pan g v xom A 2
J=&X" =)
wra f = (X" + )y f = (X 4 r)u v mn poawna mxnn mMTm DR N 1)
o CA[[X]] Yo ran omar u,w’ v A[X] 2 ansnna n— 1,m — 1 ndynn omrba on
2% om = n v Ron yan A 2 man u’ 1 u Yv orvann ontpnm R0 L X""u = X4 mod m
7=r"vu=u" vy opypr ponna maxan Yo mrman X" = ()7 Hf — 'y X =um f —r

m 27 SRR Y91 A nr 9pon nbon ompn an R o on Ao mipn omva maxa by awn

S0 DR X1,..., T, Y M0 LA Syn ordnmen mipmn o an S = A[[X, ..., X,]] o
MR i ndYpn oommn wawhe wn f; € A[Xq, .., X me Swmarwn f =D 0 f; or .m
X; mpna ;Yo magnnw mon LR aommn Yo filw, ..., ) MO0 0 Lfi(@, .., 2) € m

AR nr pavnn 71 S — R orammmn avmn
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m g € SO Ry Mper 7w reny , X, ..., X, 0 5 mnn S Yw Srera nr 90T 2 jnos oR
g ]

mwpmn f— g € M wpnn f € .5 99 1R oyav taon n

T(f) = 7(9) = f(z1,...,2p) — g(21,. .., T0) €EM"

i 17w Rm .7(g) Y mmanrp 7(f) v L,g 9 My f or MANR ©YP .2, ..., Ty, € M

8 o1 oy mpminoon mo S = K[[Xq, ..., X,]] 11w K o (onpanmorn vavn) 1.a' 10own
g EM2awSwanfi=Xi+g w1 <i<n9MaXy,...,X, 7wwuS 5 58TNn

S v T pv1 oronmor nv1n X; — f; navan

Swmar h =Y .°  hiow S — S ey oranmmn nvmn X; > fi nasan )2 0avn ad o
nn h; R ,7(h) = ha+ hlj | +hy o+ - hg # 013 ndynn mmin o w0 by 1w S
7(h) # 0 ,h #0or,0101 .h —7(h) € MITL 395 5 > d+ 1955 j nbynn mmn owdne

ST TN TN T W RIAR 1YIP

AT o83 g1 = h — 7(h) € ML oim Dpy wmmy h € Som ony LS 290 Im(7) :nayo
1D 1982 PTNY AR MIPIMNA Jar2 = b — T(g + gar1) € MIF2 195 .ga11 — 7(gar1) € M2
210003 9100999 h— T(h + gas1 + - + gavi) € M 0P gay1, gave, gays, - -

0101 lim; oo 7(h;) = R w72 hy € S wwp .S Y ar A any
7(h1),7(h2),7(h3),...

Jhip1—h; € M or pM or T(hiy1)—7(h;) € M 1oavnn NN YV PIYRIA PYNA 285 SVIP NITO RN
AR T RN LS Y9 homary oonn Ay ,obwn Sy xin owip miTo R0 Ay, ho s, 10%

| SYomwnT A =1lim; o 7(h;) = 7(h)
v doywwonopiw.0# fe Al[Xq, ..., X,]] 1wavonn on A vy 0 npy
FOT T T T #£0

AT 2

o X = (X, , Xp)1i= (i, 0p) 2082 ,M;(X) 5 X010 - Xin minn ok oo anon

£1Y1 7701 MINNN DR

Ml(X)<M](X)<:>1<J<:,>E|]{?§TL 11 = Jlyev-slha1 = Jho1,k < Jk
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T4 ™" 59 mxnn i 9w i, D300 Y0 90 d N1 .a # 0 oy £ 2 9mva opn mmnn aM;(X) any w

v .d(j) > d(i)m,j>ior.d(i) =30 i,d" Y wra,aTD Y aM;(X) nr npnyn X, mipm

n—1 n—2 .
g # 0 ,mnr oona .oxnven wk ¢(T) = f(T T ", ..., T4 T) mpma 1 aT?® qaxn
|
5o T orammur op x K Syn vakn mmw mpm v f € K[[Xq,..., X,]] 1 aw K o ua anY

T()0,---,0,X,) 0w p K[ X1, ..., X,]]

n—1
vawn .g(T) = f(T? ,...,T%T) # 0 v 75 d >»1v 780N MY *72 A NS VANYY AN
v<n—1mwp7(X,) =X, +X¥ " vp K[X1,...,X,]] v 7 openmow imi opammuoirn

i T(£)0,...,0,X,) =9(X,) #0m.7(X,) = X,

DMIPNAN NN 01,1127 TN MPrIo YY1 MnYw 0NN MR A DRY VaVHNI YHNWI RN VAYNRN NNN
nnY Yy DMPNaY DTHPIR YV NINAN Y NINNDN T AT ATIY SV ANNAN I TN MM Hva A[X]

1Y VAYN MY TIYY PPTI 1D IND 0N

A[X] 2pmax g wmn.owwm owha g € A[X] a1 a1 mpna bya obwp mpn an A o 1 an'

A[[X]] approaw g nw

5w AN VaVN Y 0TV MY NN g1 R LA[[X]] 29 Y0 pra vin g = g1g2 © PN Ao
Jpnn oo xn b viea.a € A[[X]]X 1 orovm mrha xin bRl g1 = hu (33 Noawn) DIVY
19 =qh+7rvPgreAX] owp ,mink oma JA[X] 1 nxw Dy g nr 12 phnY war 130
PY .¢ = uge Y r = 0 v Yy PIRY DY MYNN Y MmN .9 = ugah 2w Ten deg(r) < deg(h)
mL,h € AIX]X or g € A[X]* wh € A[X]* ,pmam gyomn LA[X] a1 g5 pmarin g = gh
g = g1g2 PMan ,mpn 1 .g2 € A[[X]]* g € A[X]* or.g; € A[[X]]* wron .h € A[[X]]*

i JIN9 v ve3 Yorav A[[X]] 19 Yv

107007 Dwa A f v 1 papnn e f, g, h € A[X] viv,m 130 588 Dy mpnan A o nar anY

owerrmrnoomnh g oan.f = gh

h=by+ -+ 1 X+ X yg=a9+ - +ar 1 X1+ XF n=deg(f) v :anmn
MR b € MW 7D IV JOPN 190NN S N L@, & MW T3 I PR Y8R 7o b = 1y ap = 1 jpo:

10<s<l0<r<k
k l
(D aix?) () b;X7) = X" mod m
1=r j=s
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yr=k, 2% .S nrnoaabs =0 mod mpnr+s< k+l=nmn,s <lwr <kpnidr

| D0V MY DN A1 g v IR T .s = [
Jmwmmprow R, = K[[ X1, ..., X,]] mpmarmoans (may Tnn mipion vavn) 0. 0OUn

7(f)(0,...,0,X,,) # 0w R, Y0 7 0pammuIr ninn 1. nnY .oarn mw MR f € R, anon
fi € Rp—qwma,f =320 fiXhwomwon.f(0,...,0,X,) #0wninoom,7(f) 2 f nredmox
Yy wnun R,_q %0 Mg 020 ORTRY 0 fo, ..., fa—1 © T2 DARD MY R N d ;)
50 MmN vawn Y PIWYM M N f 199 .fg € R, 9 fy(0,...,0) # 01 Xq,..., X4

7YY WEPIMR DN u € R d aYynn owowm mrho jin g € R, [ X, ] tora,f = gu ,0r00

W g1,y Gr RIOR DD VDTV TN MP10 5Y2 R, —1[X5] 03 399 0o 10 mipma dva R, 1 © mamm
0% ,19Y 010V MIPNA DN g1, ..., G NP INY Y g = g1 -+ G W P Ry 1 [X,] 2 D3pnm opa
Ry 1[[Xn]] = Rpaopiomgy, ..., gr 1o

[ = fi-- fs 00 (M 1 1) Y MPmA DR NN 01 L f YV PN DYp DR NNNN DR

o Il fi(0,...,0,X,) = £(0,...,0,X,,) # 0 xR, 1 mpma ® onmd pia ®n
S0 u; Pan 1 h; € Ry,—1[X,] 919 0% ;e ini orow Yw nann vawn L f;(0,...,0,X,,) # 0
Mmhy--hg1g1--gr MY5IMM ORIN g1 -+~ gpt = hy -+ - hg(uy -+ - us) 199 .fi = hyu; w19 Ry,
U =Up o UsIGL - Gr = Ry - hg W D0V YV N1INN VAV NI MTTPN PN ,0IVVY MY
191 .h; YO NN NN g; 93 by, ..., b S0 WINND Maon RS = s © Yan R, 1[X,,] 2 pran mmm

| R, 2 pyian mmnd nnon nr 1o

Sya A 0%wn N1 V.2 VaYH NNON2 K nxr 9YnnY qwar 'R .27Y T mpIon vawn Sw mson 2. 1vi

fiaios fie Rp_1mv f = Z;’io fiX}Lb MpI I0Y YN AN2NN NYNN2 LR I IN Mpro

ATORTRY PO R fg 16 =0,...,d—179y X;...,X,_1 7% w0 R,,_1 Y0 S5RTRY 0w
NI9AN VAYNT YHANVAY TVAR XY Pan fi © IR Ppanrn winn LR, 1 = K[ X1, ..., X, -1]] v mpm
2700 YRTRY PY fy Y 2wann oTpnnY PIY P R, = A[[ X4, ..., X,—1]] or o9 070V HV

207 VOVN NNINA TNRID DIVYI NV NN [ © PONY DN NR PRY Pan R fy it nipnma Ao m
R0 A or a0y 59 jara .0%wn 111 13790 A2 K NR 5Nn% Anonn nR 99507 1WaRY NRD
[Bur, p. 566, exer. 9(c)] mw T mpna A[[ X1, ..., X,]] mpmn o mo nnb v pwrd an

VR 112 IR RN ,ﬂDJfIL) J121 IR YITY TN MPrIan VAN *HvIN NIPNa

A= K(T)[[X1, Xa, X3]]/(XT + X3 + X3)
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[Bur] 5v 565 Tmya 8 3N mnk I a7 AR L[Sal] axa
v D7pn %7 03 Y 09N Mpn N nraY qom A v vmT DR ORI NIMYY
%3 Auslander-Buchsbaum Yv vown »a5 ,p»1 a2 o T mpno Yva A[[Xq, ..., X,]]
03 IR 5 mipn a0 nn A or a9 qom L[Mat, p. 163] m97p T mipma Y1 1un 1 omipn an
m mpna A[[X]] Y v ,Auslander-Buchsbaum »a% ,jo% [Mat, p. 157] »5m1 »mpn »n un A[[X]]

DR 25193 NN Mo Srprr oy A MMIPN 01 NNY IR ‘]1015 Joy
. 2 .
,dim 4/ m/m* = dim(A)

M =pg D P D D Pg DMYRI DORTR YV 770 NP 112YY d 220 19onn Nn dim(A4) wxa
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DP9 NN SY TANN P

NIVIY NN2P NIYY N 12300 190NN DR awnY &0 R »n S nro1aon nR 7Y 05770 DNR

PoCPpr---Chyp

orw Ny R0 unvn (dim(R) 2 jpom R Y 9Hp 1 ®1p1 ot 1aon LR Yo ornor omrha Yo
o9 dim(R) = trans.deg(Quot(R)/K) nx ,K n1o Yyn nna mow aenn mnbw onn xin R

. 01 SV PPNN VaVNY "PYYN VaVYNR” 0N NNNY RININ
dim(R) = dim(S) »#x.R »nsyn pdwnnn S v T nnY

SRR RN P; = ; N R L2995 .5 %9 ommwRy o9RTR Y9 nww qo C g1 C -+ C qp D 00
dim(S) < dim(R) 199 po C p1 C -+ C Py, 03 IRYIN AN R Hv mwrn

NIVIVY NI MM R YW DYNYRT YRR YV A0 NIVIY Y3 (X2 VaVN) 1HPN VOVN Y ,7anY

MYy A1 v or 9 or Jdim(R) < dim(.S) ,19% 390 MR nYa S Y0 DrNwR1 DYRTR YO oD

i dim(R) = dim(.S) ,0ovnn mpon nr Y1p) NTPA Npos2

wmy K amw Syp (nna) moro s nmdy onn R = Kz, ..., x,] ' (701 Y9 dpnn vown) 1T npnY
Klz1,...,z,] v K Synminssomonorxw R aty, ... t, oopanr = trans.deg(Quot(R)/K)
Kty ..., t,] synodw

R =1,...,n,t =x; MY5%Mr =n 1R ,K 590 naoR oMYn OOR T, ..., T, OR 007
a; € K* opi € 199 0% x onhw omaon Y0 i = (i1, ..., 4,) 0 Y0 I apn xS nnap np
v 7
.Zaix?---xff =0 (1)
iel
92p5 1 (1) 2 yo = a9 — x]fz, cey Y = Ty — x'f” ¥ D»YIV O9oN ko, ..., ky, Y0
11 ka\iz kn\in _ 0 )
aixy' (Y2 +27°)"* - (yn +217)"™ = (2)
icl
v fij € K[X1,..., X,] owwhe Y1pn (2) Hv i 1apna j o omn nk nna
(yj +277)" = fij(wr,y) + 2777 (3)
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v fi € K[X1,...,X,] orhonn (3) omwan 9 Yv nbean degy (fi,j) < kjij0
A kayia . kn\in _ ¢ Loeii kit A knin 4
aily (y2+$1 ) (yn+x1 ) —fl(xlay2--->yn>+a1$1 ( )

owe (2) n Yapy (3) omvan Y3 nrk oo or  degy, fi < ki 4 kodp + ooc A+ kpip )

vp feK[Xy,...,X,]

f(x1,92- - yn) + Zaixil+k2i2+'"+k"i” =0 (5)
icl
v k2, ..., ky DR AN OR DY degy, f < maXjerin + Koto + - -+ kpip )

-/

i1+ koig + - 4 knin # 1) 4 oty + - + ki,

(5) minn 1% (5) Y P gaRa MWD MANNA TMEDE PRY Y2p) 1 11,1 am At pnv DR v Ky My
Klzr,y2. .., yn] Y90 21 MY mpnn axion

wra h(ky, ... k) #£ 00 P awvn ko, ..., ky S0 0020

W(Ya, ..., Yo) = [ [ + Yais + -+ Yyin) — (i) + Yaiy + -+ + Yil,)]

i£i/
.PnYY DNTPNI DARN ANY DINS NN

Klya, ... yn] Svn 0w Klxy,20,...,2,] = K[x1,Y2,...,Y] © Y2113 (5) m mmnnn

RIOR MM 1 9 IR K (21, ..., X)) Y0 W R0 K 990 K (Yo, . .., ypn) Y9 mYpan nbyn ,v101

Klzy,...,zp) 00 339 K[t1,...,t:] 90 0% Klyo,...,yn] © 12 t1,...,t, € K[y2,...,yn]
i Kty ...t Yyn ovw

F = K(x1,...,2,) ', K 7210 5mn nno mow i mpsw onn R = K[zq, ..., 2,] 27 21 0own

dim(R) = trans.deg(F/K) »nx.R 5w mmnn amw

DMIR 2.7 Vawn 2aY rym wrl o = trans.deg(F/K) Yy m¥pimRa vavnn nR O 00

R and ey Kty ...,t] Syn odw R v P K Yyn miwdr omdn orrw ty,...,t. € R
K 5pn maabr R oR 2, .. ., Ty OV999R NYR Y1 399 dim(R) = dim(K (¢, ..., t])
19 Mo on wa R/q; & Kz, .., Ty) ™ g = >0 Rz poin 91 pai 9o

J¥ n7mn 0 C g C -+ C gy DONOVRT DHYRTR DNIVIY RIAR 191 R Y9 Mmwry YRR RN

9P A9 PR R 5w 0romwrd DYRTR Y9 09 M 93 Y9 70w o0 xar 1Y 1M .o < dim(R)
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J € p1ana om vn R Yv oonwory oORTR S0 a9y nww 0 C pp C - -+ C Py, RIOR AN

1R P9 R v Y Y1 nedoin NN M1 1Y Wy D PO f YO Dpro orn onn R L f # 0
01aRY an pon mndw oinn un R/Rf P05 (R Y0 mword Y8Pr un Rf 1y T pra Sya nnun R
J@, oo xl) =0V R = K[z, ...,z ] m .Rf Y oma onbw marwn nr prY o1 R Y0 HRTR
nmnn trans.deg(K (z),...,2))/K)) < n—1 139 K Yn nnavx omvn 2, ...,z vina
5 TPNVRT WHRTR S %Y N R Py C - Cplgern dim(R) < n — 1w ady mepimrn

| oy v ,m <namva,m—1<n—1,199.m—17mn R

10 981N R minbw Dinn S n2aIn niwaw Y Y9 TIRAY 121091 4.7 0avh DR 9INnY Ax any

dim(R) »n K n7o Yyn

opn mow o R 1 R ox .dim(R) > dim(R’) »~ .oon 5w prammox o R — R’ o 11 npY
1 o nx ,dim(R) = dim(R’) 1,(K-ovavmwar ua o v mx armpna) a € K 9% afa) = a1 K

DOPANMPN

Pi = a1 (pl) Mo 939 LR 90 oronwry mYRTR Y0 09w nwvw py C ph C --- C pl,oan
dim(R) > dim(R’) ,1Y .R Y 07nor1 YRR Y0 09 11w 00 pg C P C -+ C Py MR
b dim(R) = dim(R’) vy K-opammwar ua a v K Syn mavo own Ry R w any mon

701 Y9 ppnn vawn 1aY N .Quot(R) Yv Y mw K Yyn Quot(R) Yw r mbyan ndyn a1 nnb

at;)) =t v t; € RAanad 939 K Yyn mandr ombn orrw ¢, ..., ¢ € R omar (2.7 nnb)
P0#fe K[Xy,...,X,] owne mp wn ,nink LK Ypn maidr onn ok G, ...t D3O
g9 .t nemad avnoa L f (8, ..., 1) = 0 mm amn a Y avon Lf(tr,...,t,) =0 W

K(te, ... 1) dynmaior Quot(R)

D nmpn Apoan Y a(z) = 0w P ,x # 0,2 € R mp w0 ,0pammidr 10 8Y a W
VP gos- - 9n € K[X1,..., X,
gn(t)z" 4+ -+ g1(t)z + go(t) =0 (6)
"N v A A1No .go(t’) = 0 mimm (6) Y « nbyan ;7rRn .go(t’) # 0 1Y g # 0
| OP9TIMDR
Adim(R/Rf) =n—11dim(R) =n »x.pronwowne f € R = K[X1,...,X,] »» @1 any

mn K Syn 19w noyin nvynw K (X1, ..., X,,) nrdvxan noepnon n1e un R Y9 nann nto :anon

Adim(R) = n 2.7 vawn ah .n
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MR . ppvn nR a: R — R/Rf 11n01.mn%w onn wn R/ Rf v yan ,praor f v nmnnn
.dim(R/ R f) < n — 1,an3n0 Y9 AWRIN APDON 1A% T.T AnY 2aY 199 OPOTINMIDR IR

DNYN DIRY Y1,...,Yp—1 D7AR N — 1 902 .f 2 yam X, v nvY5In ndan »va mo RN

MYl Yn—1,Yn) = 00 19 K (Y1, ..., Yn—1) Y0 M29%A 3302 y,, 02 K Hyn ndr

Adim(Ky1,...,yn]) =n — 1 a1 0000005 199 n — 1 un K S0 K(y1,...,Y,) Y2 m5yn mn

1anoes d = 1,...,n,0(X;) =y o R — Ky, ..., y,] K-oranmara any man
1 v oad @ R/Rf — Ky, ..., yn] orammar miwn R0 P9 Rf Y ar opammar parnn
JINTIPN NPOA1 AWINY MW RS AT v or 9 or dim(R/Rf) > dim(K[y1,...,y]) =n —1

i dim(R/Rf) =n—1v %,

5w won A9Y NI 5 5w 7INA I8 . 51 Ton sva KK pTw Syn oo v mndw oinn R o a1 vown

TR OYIUNT DIONTN

2.7 MY LR YY oomwry mORTR Yv nam wnan Yy nww 0 C qo € - C qy 0D 0
wra LK [t] Yyn odw R v P K Syn nmadr ombn orrw R Y tq, ..., ¢, 01718 D AT and
5W PN DARN NNW MNVRI SRR NN P R 4 = 0,...,m ,p; = q; N K[t] ypoa .t = (t1,...,t)

VaYN) NN VAVN 8% Po 1 YN 9N DAY DARD MY P ONVRT YRTR K [t] 5 mp o minr LK [t]
nMYMS PN ,qe 1 1 0 N 10 AW g ,0.3 IRNIN AY g 2 YN R YWY g mwri HRTR P Hyn nnn (T
SRR NN K[t]f 199 .90 0or f o mand 5 opnn ok s pro o Yy Lf € go D19 N1 .qo YV
Adim(K[t]/K[t]f) =r — 1,07 0% % .q0 = K[t]f v yan qo Y9 m»mpmnn .oarn 1w mwra
mep1mr 2 mn K[t]/K[t]f 59 0 C p1/po C -+ C Py /Po DPNORIN DHRTRN NIV 3D 10D

[ poom=r,pom—-1=r—1%nmnmrbHy
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Y9N

n9951Y PIANN R AR IPRY @ € A 928 DR 177 .12 TN Mo Yva un A owra an SHv o .1
NR YY1 a1, G2, A3, ... DMIAR YW NITO DRPITIRI MI2Y TWaAR IR ,D0P19 OR DR YV 9D Ja0N YV
TN DR PNY T PN Yaph T Ufil Aa; YRTRI 1ANN ANY INTIP DR PYNN DA TNR Y5V ANON

21 Ap HRTRN TR P9 R 2R 1N p DORY NN PN DIIIY

nn un K[X] omrhen nnw oonb »13 K[X] 2 narw oy apynn nr % .nvn X yate Ko .2

J37Y T Mpne Yya vin K[ X] v pon ooxa

5w *1300 qnwnn ponna f € R[X] owha Y 1ann nk 1 237 T0 mpa va mnbw mnn R .3

Lowa Yo nvn) f, g € R[X] omrHha nw 93 cont(fg) = cont(f)cont(g) v nan pn1pn

DMIPYIAN MINY 03 IR 1P TH MPIo Y¥2 mndv oinn i R orw n251nY »73 03 Y nba vnnwn .4
onn o a1 K oxa K[ Xy, ..., X)) 1 Z[ XY, ..., X oannw pon ooy T mpnie v R[X]

J37Y TR Mo oYl
AN 10 AN 728 IDAR 12R HY D1PIONY pon .l —x € A% ik, A 20 Yv ODaR AR NN T DRY NN .5
D02 ¥ MI0PY AN HIYY NG T TR DY INdN DR YN 6

IR DDA DIV :N37TN IIOR 90 W K DTw Y250 PUIR DNR YW ANNN AINYY 113 AR NVAVN DR YN L7
SRTRN AR a 2 1po) LK Yyn X minwna A mmrian »n nr man X mnwn ana K[ X] 2 f pra
A DR Ppnn A Y9 m 21 YRR N2 ) a v P L f (X ) omirdan 9 0 Yy wn A Yw
MYPITING M2 v K[X] 2 y1ap RY mrdia 939 v 11w K nr pnn n1o un K7 v non K = A/m
K1 2w v K 2 oonTpn oy yap kY owna 90w 0 K C Ky C Ky C - mTv Yv nhy niTo
L 1ax 9 qor 0k K 1100 ,5019 K R 9pnn 0ok mo 11w wn L = U?; K; mnrnw 32 Yy hy

5w 580 1900 0 K v non LK Yyn 07123598 Dnw

DPNWYRIN DORTRA MW DR WAn 9pm 3 m v nn Y 1 X o oy aean KX, Y]aoxrramon 8

K[X, Y]V 'K[X,Y]X
A biavma.ay o Vb Vawmn . Aam morrrbravm 9

19909 DM MY MNMVRT KRR A H vwY AR 1IVAVNH NIYI NN .DaRN NNY In A 10
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oy A 59 Pon R A Y9 mwrd SRR Y3w non LA nn Yyn X mnwna omrhan an A[X] 11

ALX] 5w omort YRR

AX 20w f(X) =310 ga; X Annyn X 1 mowhan an A[X] 12

OPDOR A1, ...,0, 1 a0 € A DR pOR f € A[X]* v (R)

OVDR A1, a1, - .., Gy DR P ORODAR [ O NN ()

af =0v 7 oarn M a € A op OR p1 OR Dar oI f VNI (3)

MORT SRTR D PR PNy S " Aja; = Aorop non f =30 a; X' € AX] owoe (7)
PN OR DR fg © NN 0N DINa g € A[X] 0 .(.8 PoaVN) a; DNTPNN 93 IR Ponn A Yo p

(01 5V nndn) omTp g on f Dy DR
ZJmZ @ Z/nZ = 0w nnn .ar9 At D 0Ya0 DI90n 1y m v 13
(AJa) @4 M = M/aM v nan A51m MySxrrayn A v 14
N=0wM=0nm,Mx®N =0 aoxw nn1 .o o A->971m M, N yompanan A vy 15

oR pM o Mow A-min un M; Y non M = @, M; 1 A»min Yo anawn (M;)cr 0 .16

iel
ow M

oY A-51n nn A an dyn A[X] omrsen nnw non .17

Dp OR PN OR STIM = 0 v non e wn Amn Mo A an Yo mbad nwap S oan .18

SM=0w1pseS

S =14 amvaon nxapa mann A nnSv oRmr ax .19
S71A v poapyr poawa Yom ST la w i (®)
R LaM = My oo axn A“mn xin M oorw nomnb 113 19 92902 nopa Yo nnba L(R) 2 wanwn (2)

aM =0v1p 2 =1 mod awp

.20
Joar A, A »n 5w ponwrl YRTR Y9 rmar A, ORY PN (R)
p

MnYY DINN PR INRY A v MINY P oONYRT HRTR Y3 112y MndY oIND 1N Ap v A nnb TN (2)

apnynn 1 npnaw man .o (A4) Yo nndw namn un B oor obw m a: A — B orammmin .21

D170 M¥IPY MIND MVAp pnvn o MmNk ovHna .amo a*: Spec(B) — Spec(A) nmwnn
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MYRY YRR 99 K Y9 nyn an un Ay v 1o LA v mann nTw nr K 2 p01 owr an Ao 22

ASop #0

nnn B Yw nan xR, A Sv m an SRR ,mnbw omnn v A C B anbw naninb mTIn 23

A Syn oow r B, v 1 m Yyn

B =7+ 7Zd v nmn .Q(\/E) 2 Z v nbwn vion B onn »1272 pHnnn 10rw 1YW 1aon d o .24
d=1mod 4o B=3(Z+2ZVd)1d=3 mod 4 ox

ASymobw B poman AC By .25
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J(B)NA=JA)wnmn (1)

omre f,g € B[X]| v .B 1 A Yv ndwn 1ion nr A’ 1 1po1 .mindw omnn A € B vr .26

Joge A[X]wmn.fg e A[X] w1a (19w ondw oiwdyn mnTpnnw 1mYa) oipnn

WA =p=AX+AY v,mpnqorrravnon g = AX + AY?1 A = K[X,Y] amw Ko 27
A5 omoR SRR D Yw apm R qu p2 C qC pw

o R 0 M /My vy M/M; orw nan .o9vnn nn My, Mo v A »n Syn 9ymn M e .28
J30) M/(Ml N Mg)

Avanu A/avmin.a = {a € A| aM =0} n.An»n om0 51n Mo 29

:nn . X = Spec(A) jpontoann A 30

AOTNY MIN0 MNP YW DT NITO VI (R)

JomT X Yo nxnapnnY ()

15V %Y 9D or pN orR (a” = 0 v PP n »p IM) rear NN A AN SV a D N YRTRY NN .31

JOOR

93 DR P71 DR DR f W N A2 mnTpn oy vnma mpm T f =Y 0 a, X 1 mn Ao 32

JOAR a; DNTPNRAN TNR

(a: Ab) = {a € A| ab € a} 1y a+ Ab moxPrAw M1 A S0 R by vvrr a o0 A vy .33
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